47 4 | 3 | 2 | ]

8 | 1 | 6 | )
PARTS LIST
ITEM|QTY PART NUMBER DESCRIPTION MATERIAL
1) @ @\ |-—A 1 | 1 |Standard Wood (Oak]
I 2 | 1 |Standard Shaft Wood (Oak)
@ @ @ 39 3 | 1 |Base Stainless Steel
L | 1 |Cylinder Brass, Soff Yellow
G @ ! 5 1 |Cylinder Cover Stainless Steel
I — i /@ “ ‘ 6 | 1 |Cylinder Head Stainless Steel
@ . 9 @\ - S 7 | 1 |Support Link Holder Stainless Steel
(:'V i 8 | 1 |Flowshaft Stainless Steel
AN\ _Z ! A I L | 29 @\ .,ﬁ AN <:> 9 | 1 [Transfer Cylinder Brass, Soft Yellow
0 d m)iék_Q ; il @ I - o 10 1 |Base Support Brass, Soft Yellow
% / | 28 | | 11 | 1 |Support link Copper Alloy
e =< ( ! ' 13 —| = @ ! ’ 12 | 1 |Eccenfric Sheave Stainless Steel
¥: f Z \ ! 31 ==—7—~ ?w::z 13 | 1 |Flywheel Stainless Steel
a Q OSSN === "‘l'ﬁ' === ° 14 | 1 |Crankrod 1 Copper
= F DR s ARG S,
@ ! | 5 bl'&l_._lﬁ'ld B 17 | 1 |Crankrod Bolt 2 Copper Alloy
| \ | 18 | 1 |Piston Rod Stainless Steel
! VA ' . 19 | 1 |Piston Stud Copper Alloy
! L e ! 20 | 2 |Link Bushing Brass, Soft Yellow
21 \ | 21 | 1 [Piston Alloy Steel
. \ e | 22 | 1 |Inner Heater Dome Glass
29 | \ \\// ! 23 | 1 |Quter Heater Dome Glass
24 | 2 |Connecting Link Copper
@ ! 25 | 1 |Connection Link Stud Stainless Steel
23 26 | 1 |Support Link Stud Stainless Steel
) 2t | 1 |Crosshead Brass, Soft Yellow
@ N 28 | 1 |Transfer Piston Rod Steel, Mild
29 | 1 |Transfer Piston Stainless Steel
— , II 30 | 2 [Flowshaft Bolt Stainless Steel
®—* / e 31| 1 |Tube Rubber
c - - - - 32 | 4 |Foot Cussion Default
@ T I__A 33 | 4 |DIN 84 - M3 x 6 Slotted Cheese Head Screw [Steel, Mild
34 | 14 |DIN 912 - M3 x 8 Cylinder Head Cap Screw Steel, Mild
@ 35| 6 |DIN 912 - M3 x 12 Cylinder Head Cap Screw Steel, Mild
36 | 1 |DIN 963 - M5 x 12 Countersunk Screw Steel, Mild
37 | 1 |DIN 963 - M5 x 20 Countersunk Screw Steel, Mild
38 | 1 |DIN 6799 - 2,3 Retaining Washer Steel, Mild
39 | 1 |DIN 7991 - M3 x 12 |Countersunk Screw Steel, Mild
_’=!‘©zl Revision| Date Description
_;-ﬁl-’—_?‘i’ -~ Engineered by: Name: Date: Scale: 1:1
N ——————— Designer: |Galba, J. 19/12/2009 =
ig Approved:|Galba, J.  [19/12/2009 | SheefSize: A2 '
jg E Project: Material:
ce Miniature Model Air Engine Total Mass: N/A
23 . Title:
w e e e o T e [ Vertical Stirling Engine with Glass Dome
—gé E Roughness Value “Ra” in ym ( NBN 88-02 ) ( ISO 1302 ) 25 12,5 6,3 3.2 16 0,8 0,4 0,2 A Ssembly
%:;f;% Allowable deviations for dimensions without tolerance indication (machined surfaces)
7:% % For measurements ( deviations in mm ) Fillets and chamfers Angles (in °and ")
£E8 Dimensions in mm Dimensions in mm Length of the shortest leg
iyt ko B B I I I B I Rl IS I I A Al Y B = O Drawingnumber: Sheef:

3 6 30 120 400 1000 | 2000 | 4000 3 6 30 | 120 | 400 50 | 120 | 400 O O 01
f Fine +0,05 +0,05 +0,1 +0,15 +0,2 0,3 0,5 +0,8
+0,2 | 0,5 +1 +2 +h +£1° | £30" [ £20" | £10" | 25’
Design State: Drawing made with
. = autodesk Inventor
~ Revisions on ly
InV 1- FW|Zardg REIeaSEd permitted by CAD

3 2 I 1




